INPUT GROUP MOUNTING FACE
PTO GROUP MOUNTING FACE
LEFT BRACKET MOUNTING FACE
RIGHT BRACKET MOUNTING FACE
PUMP MOUNTING FACE

QA WIN =

NOTES :
A. REFERENCE S930 FOR TWIN DISC REQUIREMENTS FOR
PRESSURE AND ALARM LEVELS.

B. UNLESS OTHERWISE SPECIFIED, FASTENER TORQUE VALUES
PER S574 STANDARD.

C. ALL POINTS AVAILABLE FOR TESTING ARE CODED <:>

THE 90° LEVER ROTATION REQUIRED FOR
CONTROL MAY FALL ANYWHERE WITHIN THE
360° IN WHICH THE LEVER MAY BE CLAMPED.

ENGAGES SECONDARY
CLUTCH

DETENT POSITION

45°

NEUTRAL DETENT

VIEW B-B

©10.3 (13/32") DRILL THRU
12 HOLES EQUALLY SPACED
USE GRADE 8.8 PROPERTY CLASS

QUALITY CAPSCREWS PER ISO 898-1
AND TORQUE TO S574 OR
SERVICE MANUAL VALUES.

USE HARDENED

FLAT STEEL

WASHERS R30N-61MIN.
UNDER SCREW HEADS.

ENGAGES PRIMARY
CLUTCH

DETENT POSITION

¢»6.35 DRILL THRU.
CONTROL VALVE SELECTOR

LEVER RANGE 33N(7.5 LBS)MAX.

REQUIRED TO MOVE.

45°

NEUTRAL RANGE

| I T T |
|
A
\
\
N
28.4
REF.
(€}
oh
QR
T w
>_
\LIJ
g | o
) m
o g 2 ¥ o 0.
5 o Y § < I
< e on O < ™
s § g & g ©
IS < ™
S IS
| _
| %
I §
|
/ |
/ \ ‘ o
T =1
FLYWHEEL OUTLINE— | 1 |
' === SECONDARY CLUTCH r
S | | M14x1.5 METRIC PORT ‘
26.0 1= o CONFORMS TO ISO 6149 ‘
|| ' TIGHTENING TORQUE 202 Nm
‘ |
| (Zs0) %

302.1

- 39.6 ==—433

EYE BOLT ¢

INPUT SHAFT ¢

M12x1.75 TAP, 20.0 DEEP
FOR USE IN LIFTING
TRANSMISSION ONLY

©®11.0 DRILL THRU,

8 HOLES EQUALLY SPACED

USE GRADE 8.8 PROPERTY CLASS
QUALITY CAPSCREWS PER ISO 898-1
AND TORQUE TO S574 OR

SERVICE MANUAL VALUES

SAE #3 HOUSING FACE
MUST CONFORM TO SAE J617

INPUT SPEED SENSOR PORT
5/8-18 UNF TAP THRU
TARGET WHEEL 51 TEETH

sy

INPUT SHAFT ¢

LUBE PRESSURE PORT
M14x1.5 METRIC PORT

CONFORMS TO ISO 6149

TIGHTENING TORQUE 20+2 Nm.

13.0mm CLEARANCE
REQUIRED TO
: REMOVE PUMP

SECTION A-A

ALTERNATE OIL OUT

TO HEAT EXCHANGER

3/8-18 NPTF INCH THREAD (DRYSEAL)
CONFORMS TO J1926

TIGHTENING TORQUE 37+4Nm
REMOVE THREAD PROTECTOR
BEFORE OPERATING UNIT

@@

CENTER OF GRAVITY ¢ —\

—~ 274.2

MAIN PRESSURE PORT

M18X1.5 METRIC THREAD (DRYSEAL)
CONFORMS TO ISO 6149
TIGHTENING TORQUE 34+3 Nm
CONNECT OIL PRESSURE

GAUGE LINE HERE.

OIL IN FROM HEAT EXCHANGER
M18x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 34 +3 Nm
REMOVE THREAD PROTECTOR
BEFORE OPERATING UNIT

19.1

OIL OUT TO HEAT EXCHANGER—_ |

3/8-18 NPTF INCH THREAD (DRYSEAL)
CONFORMS TO J1926

TIGHTENING TORQUE 37+4Nm
REMOVE THREAD PROTECTOR

PRIMARY SHAFT ¢

BEFORE OPERATING UNIT ]

296.3

166.3

(€ ( D

OIL FILLER & BREATHER

337.6
(365.0 IF MOUNTED OPPOSITE SIDE)

LIVE PTO,
SAE J744, SAE 101-2/4, 25-4

199.2
BOTH SIDES

PRIMARY CLUTCH
PRESSURE PORT
M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

396.9

LUBE PRESSURE
M14x1.5 METRIC PORT
CONFORMS TO ISO 6149
TIGHTENING TORQUE 20+2 Nm

©)

r‘T—l.——l"'rI
|
|

on .
o >
A INPUT SHAFT G
o )
} \ B B \ S ©109.989+0.011 (h6) ) ~ : | Y (e ——
= PILOT | |
) ° I | 1 ‘
o o : - T | i : ! o :
S | S SECONDARY ] OUTPUT SHAFTG I | |
‘ OUTPUT SHAFT¢ SHAFT ¢ r 4 | o ‘
I o) — | | I
\ o == ‘
] | | & N I | : \7 I : : |
N :,/::j]:::ff:;/ : . |
T‘__LT } CENTER OF GRAVITY @ TO SUIT GWB 587-42 24 o ‘ | T
2l ih | ‘ /ij ~=1—14.0 1 0
i OIL STRAINER IR
i M8X1.25 THREAD, 7.6 DEEP E | L I
DRAIN PLUG 54.0mm CLEARANCE REQUIRED, |
M22x1.5 METRIC PORT TO REMOVE SUCTION SCREEN “
CONFORMS TO ISO-6149 \ == Co
TIGHTENING TORQUE 54 +5 Nm DIRECTION OF OUTPUT |
| 15 mm CLEARANCE REQUIRED FLANGE ROTATION
) TO REMOVE DRAIN PLUG. \ (R.H. ENGINES DRIVING - 315.3 - -
THRU PRIMARY CLUTCH) )
47.0 64.0
- TYP. I TYP. - 335.3 —
®155.5 B.C.
- 130.4 - M16x2.0 THREAD 33.0 DEEP
(CoG) 8 HOLES AS SHOWN. _ ©16.2 DRILL THRU 254.0 254.0
USE ALL EIGHT(8)HOLES 10 HOLES EQUALLY SPACED
FOUR(4)PER SIDE FOR MOUNTING. USE GRADE 12.8 PROPERTY CLASS
QUALITY CAPSCREWS PER ISO 898-1
USE GRADE 8.8 PROPERTY CLASS AND TORQUE TO S574 OR SERVICES
QUALITY CAPSCREWS PER ISO 898-1 MANUAL VALUES
AND TORQUE TO S574 OR SERVICES )
MANUAL VALUES.
- NDWF-010477 [04/03/2019
REV CHANGE NO. DATE
FIRST USE ASSEMBLY: corr 1284 MATERIAL: DATE:
EQU'PMENT SHOWN FIRST USE MODEL: § . @D G ;Egﬁzé¥%}f 801{2/2019
SIMILAR TO: WR': kg-m
- MG-5075SC PER PX10680 ASSEMBLY HEAT TREAT: 1:2 RACINE, WI 53403 - USA
- SAE #3 ADAPTOR / SAE 290 CENTA CF-DS-45 INPUT COUPLING M ET R C RN IESIONS PRAIN BY: ] 02 6 3] ] |_
: MECHANICAL VALVE _ _ NOTICE! THIS PRINT CONTAINS PROPRIETARY INFORMATION AND IS )éfi((x i%%% DESCRIPTION: CHECKED BY:
LIVE PTO’ SAE J744, SAE 101 2/4’ 25-4 NOT TO BE USED IN ANY MANNER DETRIMENTAL TO THE INTEREST OF | a1 | ANGULAR TOLERANCES +1°
- GWB 587-42 OUTPUT FLANGE THIS NOTICE 1 TN OE T LY S MIT RIGHTS GEOMETRIC TOLERANCING INSTALLATION APPROVED BY: DG SHEET: REV:
GRANTED TO THE U.S. GOVERNMENT OR OTHERS BY CONTRACT. PER ASME Y14.5M 1994 MG'5075SC DV SIZE: AO 1 OF 1 -
J | H G F E D C | B | A



	Sheet1
	Drawing View9
	Section View A-A
	Drawing View11
	Drawing View12
	Drawing View13
	Drawing View15
	Drawing View16


